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dP = (dPx, dP,,dP;) = P~ Py = (P, P,, P, — Po) (4.25)
dE=T-To (4.26)
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thickness vs efficiency (E=250MeV,12*12cm)
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thickness vs efficiency (E=250MeV,12*12cm)
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energy vs count (12*12cm,thr=6.0MeVee)
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energy vs efficiency (12*12cm,thr=6.000MeVee)
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threshold vs count (E=250MeV,12*12cm)
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threshold vs efficiency (E=250MeV,12*12cm)
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threshold vs efficiency (E=250MeV,12*12cm)
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case| D[cm] H[ecm] | OOOO 1nevent 2nevnt multievent dxcm] dy[cm] dZcm] dt[ns]
1 12 12 0.6553 993 1269 4271 | 6.93(24.0) 4.40 3.46(12.0) 0.331
2 6 12 0.3955 811 781 2363 6.93(24.0) 3.86 1.73(6.0) 0.281
3 6 6 0.3991 817 780 2394 3.46(12.0) 3.86 1.73(6.0) 0.282
4 12 6 0.6443 978 1096 4369 | 3.46(12.0) 4.33  3.46(12.0) 0.333

055 0000000000000 O000000O0DDO0OO cO0OOOO (eventC)

case| D[cm] H[cm] dag dP[MeV/c] dP,JMeV/c] dP,[MeV/c] dP,[MeV/c] dE[MeV]
1 12 12 | 0.00432 8.17 5.20(18.0) 3.10 8.17 5.02
2 6 12 | 0.00334 6.20 5.20(18.0) 2.78 6.21 3.82
3 6 6 0.00337 6.32 2.60(9.0) 2.76 6.31 3.92
4 12 6 0.00434 8.20 2.60(9.0) 3.06 8.18 5.06

0560000000000000000000000O0000O00 00000 (eventC)

xOD0ODOODODOOdxddxOOOO0ODOoooodPOOOOOOOooOooooo Hem]O
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case| D[cm] Hcm] | eventBIO OO OOODO dx{cm] dy[cm] dZcm] dt[ns]
1 12 12 71.2 6.93(24.0) 3.98 3.46(12.0) 0.307
2 6 12 45.3 6.93(24.0) 3.67 1.73(6.0) 0.258
3 6 6 45.1 3.46(12.0) 3.63 1.73(6.0) 0.256
4 12 6 70.5 3.46(12.0) 3.92  3.46(12.0) 0.310

O057000000000000COO00O00ODODOOCODO cOO0OOO (eventB)

case| D[cm] Hlcm] dag dP[MeV/c] dPsMeV/c] dP,[MeV/c] dP[MeV/c] dE[MeV]
1 12 12 | 0.00407 7.63 5.196(18.0) 2.81 7.62 4.70
2 6 12 0.00310 5.75 5.196(18.0) 2.64 5.76 3.51
3 6 6 0.00308 5.82 2.598(9.0) 2.61 5.82 3.58
4 12 6 0.00409 7.73 2.598(9.0) 2.78 7.72 4.74

05800000000000D0000000000OCODOODODOO cO0DOOO (eventB)
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0000000000000 G4)000D0000000 zemMOOOOOODOODOOD
O0ccO00O00S9005900000000z[cm]O VetoOOOOOOOOOOOOOO
ubooobobobooboooouoobobob ooobobboboobooooonog
obobobobooooooobobobos9Ybosobunooobos14pononon
ooooooooobOooboooboobUoboOoobO0oboOobOOoDOobbOOOoOl2x
lzcmd 000100 8000000DOO0O 20%0000000000O0O0ODOODOOO
1000 eenCOO00OD0O0O0OODODOODODOOOD eventADODODOODOOOO
oooooooooboobooOooooOooooboboOoobboOoooDbboOoobooooDaz
x 12cmO0000100 80000000O0O0OO 10%000000000000D00O0O
goodbbobobboobooboobooooboooboobDoooDobooDo
OO0 12ecmd 000 6cmO 000 10%000000000D000O0OOC0O0OOO

O | z[cm] 12x 12cm 12x 6cm

dy dt dy dt
1 10 | 3.61546 0.313922 3.62307 0.312661
2 22 | 3.88015 0.321032 3.84409 0.321171
3 34 | 4.11246 0.325481 4.04545 0.328976
4 46 | 4.27867 0.328358 4.25787 0.336619
5 58 | 4.53201 0.339834 4.66302 0.340224
6 70 4.807 0.345302 4.86415 0.345457
7 82 | 5.47907 0.355076 5.53861 0.360123
8 94 | 6.48667 0.366047 6.17841 0.375792

O 59 eventCcasell 40000000000 DOOOOO0OOODOOODOO cOODOO
ubbodsoobboooboooboboooboboboobooboboobooonoo
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O | z[em] 6x 12cm 6x 6cm
dy dt dy dt

1 7 3.523767 0.2613023 3.576783 0.2612060
2 13 | 3.584064 0.2643708 3.635726 0.2618434
3 19 | 3.702814 0.2695030 3.682942 0.2634295
4 25 | 3.807802 0.2735283 3.750407 0.2682142
5 31 | 3.944166 0.2711370 3.924893 0.2730331
6 37 | 4.028110 0.2768946 3.956443 0.2761940
7 43 | 4.109528 0.2760567 4.170222 0.2793240
8 49 | 4.322705 0.2820964 4.243647 0.2784356
9 55 | 4.432729 0.2755296 4.512946 0.2818094

10| 61 | 4.502603 0.2783297 4.518323 0.2792943
11| 67 | 4.785606 0.2830901 4.758420 0.2816061
12| 73 | 4.696115 0.2967834 4.860262 0.2847169
13| 79 | 4.936713 0.2993004 5.082312 0.2910553
14| 85 | 5.339818 0.2971709 5.426247 0.2982489
15| 91 | 5.923115 0.3066920 5.669313 0.3081141
16 | 97 | 5.950004 0.3039098 5.911576 0.3060797
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z[em] vs dy sigma
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